
®

Self Drilling Screws
K-LATH SELF DRILLING SCREW (WAFER HEAD) ZINC	 a.   1

K-LATH SELF DRILLING SCREW (WAFER HEAD) 1LB ZINC	 b.   1

K-LATH SELF DRILLING SCREW (WAFER HEAD) 5LB ZINC	 c.   1

K-LATH SHARP POINT SCREW (WAFER HEAD) ZINC	 d.   1

K-LATH SHARP POINT SCREW (WAFER HEAD) 1LB ZINC	 e.   1

K-LATH SHARP POINT SCREW (WAFER HEAD) 5LB ZINC	 f.   1

PAN FRAMER SCREW SDS BLACK PHOSPHATE	 g.   1

PAN FRAMER SCREWS SHARP POINT ZINC	 h.   1

HEX WASHER HEAD SELF DRILLING SCREWS ZINC	 i.   1

PAN HEAD PHIL SELF DRILLING SCREWS ZINC	 j.   1

FLAT HEAD PHIL SELF DRILLING SCREWS ZINC	 k.   1

TRUCK BED SCREWS W/WINGS ZINC	 l.   1

TRUCK BED SCREWS W/WINGS 5LB ZINC	 m.   1

SELF DRILLING SCREWS HWH  W/BONDED WASHER ZINC	 n.   1

ROOFING SCREWS W/BONDED WASHER GALVANIZED	 o.   1

ROOFING SCREWS W/BONDED WASHER  GALVANIZED	 p.   1

ANTIQUE BRASS SELF-TAPPING SCREWS	 q.   1

BRASS FRINGE SCREWS	 r.   1

selfdrillingscrews_032025  



a. 112825 Carmenita Rd . Santa Fe Springs .  CA . 90670 | 1.800.468.9513
grattanfasteners.com

SELF DRILLING SCREWS

K-LATH SELF DRILLING SCREW (WAFER HEAD) ZINC

SE
LF

 D
RI

LL
IN

G
 S

CR
EW

S

GRATTAN 
PART #

BBI  
PART # DESCRIPTION SIZE BOX 

QTY
VD 
CODE

FAMILY 
CODE

055034 693620 K-LATH SELF DRILLING SCREWS ZINC #8 X 1/2 100 PT 693

058076 693842 K-LATH SELF DRILLING SCREWS ZINC #8 X 9/16  100 PT 636

055035 693622 K-LATH SELF DRILLING SCREWS ZINC #8 X 3/4 100 PT 693

055036 693624 K-LATH SELF DRILLING SCREWS ZINC #8 X 1 100 PT 693

055037 693626 K-LATH SELF DRILLING SCREWS ZINC #8 X 1 1/4 100 PT 693



b. 112825 Carmenita Rd . Santa Fe Springs .  CA . 90670 | 1.800.468.9513
grattanfasteners.com

SELF DRILLING SCREWS

K-LATH SELF DRILLING SCREW (WAFER HEAD) 1LB ZINC

SE
LF

 D
RI

LL
IN

G
 S

CR
EW

S

GRATTAN 
PART #

BBI  
PART # DESCRIPTION SIZE BOX 

QTY
VD 
CODE

FAMILY 
CODE

D55034 P30620 K-LATH SELF DRILLING SCREWS ZINC #8 X 1/2 1 P2 P30

D55035 P30622 K-LATH SELF DRILLING SCREWS ZINC #8 X 3/4 1 PR P30

D55036 P30624 K-LATH SELF DRILLING SCREWS ZINC #8 X 1 1 PR P30

D55037 P30626 K-LATH SELF DRILLING SCREWS ZINC #8 X 1 1/4 1 P2 P30

D55038 P30629 K-LATH SELF DRILLING SCREWS ZINC #8 X 1 5/8 1 PI P30

D55039 P30633 K-LATH SELF DRILLING SCREWS ZINC #8 X 2 1 PI P30



c. 112825 Carmenita Rd . Santa Fe Springs .  CA . 90670 | 1.800.468.9513
grattanfasteners.com

SELF DRILLING SCREWS

K-LATH SELF DRILLING SCREW (WAFER HEAD) 5LB ZINC

SE
LF

 D
RI

LL
IN

G
 S

CR
EW

S

GRATTAN 
PART #

BBI  
PART # DESCRIPTION SIZE BOX 

QTY
VD 
CODE

FAMILY 
CODE

555034 P30620 K-LATH SELF DRILLING SCREWS ZINC #8 X 1/2 5 PR P30

555035 P30622 K-LATH SELF DRILLING SCREWS ZINC #8 X 3/4 5 P2 P30

555036 P30624 K-LATH SELF DRILLING SCREWS ZINC #8 X 1 5 P2 P30

555037 P30626 K-LATH SELF DRILLING SCREWS ZINC #8 X 1 1/4 5 PR P30

555038 P30629 K-LATH SELF DRILLING SCREWS ZINC #8 X 1 5/8 5 PQ P30

555039 P30633 K-LATH SELF DRILLING SCREWS ZINC #8 X 2 5 PQ P30



d. 112825 Carmenita Rd . Santa Fe Springs .  CA . 90670 | 1.800.468.9513
grattanfasteners.com

SELF DRILLING SCREWS

K-LATH SHARP POINT SCREW (WAFER HEAD) ZINC

SE
LF

 D
RI

LL
IN

G
 S

CR
EW

S

GRATTAN 
PART #

BBI  
PART # DESCRIPTION SIZE BOX 

QTY
VD 
CODE

FAMILY 
CODE

055053 692713 K-LATH SHEET METAL SCREW ZINC #8 X 1 1/4 100 PT 692

055050 692703 K-LATH SHEET METAL SCREW ZINC #8 X 1/2 100 PT 692

055051 692706 K-LATH SHEET METAL SCREW ZINC #8 X 3/4 100 PT 692

055052 692711 K-LATH SHEET METAL SCREW ZINC #8 X 1 100 PT 692



e. 112825 Carmenita Rd . Santa Fe Springs .  CA . 90670 | 1.800.468.9513
grattanfasteners.com

SELF DRILLING SCREWS

K-LATH SHARP POINT SCREW (WAFER HEAD) 1LB ZINC

SE
LF

 D
RI

LL
IN

G
 S

CR
EW

S

GRATTAN 
PART #

BBI  
PART # DESCRIPTION SIZE BOX 

QTY
VD 
CODE

FAMILY 
CODE

D55051 P27706 K-LATH SHEET METAL SCREW ZINC #8 X 3/4 1 P2 P27

D55052 P27711 K-LATH SHEET METAL SCREW ZINC #8 X 1 1 P2 P27

D55053 P27713 K-LATH SHEET METAL SCREW ZINC #8 X 1 1/4 1 P2 P27



f. 112825 Carmenita Rd . Santa Fe Springs .  CA . 90670 | 1.800.468.9513
grattanfasteners.com

SELF DRILLING SCREWS

K-LATH SHARP POINT SCREW (WAFER HEAD) 5LB ZINC

SE
LF

 D
RI

LL
IN

G
 S

CR
EW

S

GRATTAN 
PART #

BBI  
PART # DESCRIPTION SIZE BOX 

QTY
VD 
CODE

FAMILY 
CODE

555051 P27706 K-LATH SHEET METAL SCREW ZINC #8 X 3/4 5 PR P27

555052 P27711 K-LATH SHEET METAL SCREW ZINC #8 X 1 5 PR P27

555053 P27713 K-LATH SHEET METAL SCREW ZINC #8 X 1 1/4 5 PR P27



g. 112825 Carmenita Rd . Santa Fe Springs .  CA . 90670 | 1.800.468.9513
grattanfasteners.com

SELF DRILLING SCREWS

PAN FRAMER SCREW SDS BLACK PHOSPHATE

SE
LF

 D
RI

LL
IN

G
 S

CR
EW

S

GRATTAN 
PART #

BBI 
PART # DESCRIPTION SIZE BOX 

QTY
VD 
CODE

FAMILY 
CODE

055060 R51676 PAN FRAMER SELF DRILLING SCREW BLACK #6 X 7/16 100 PT R51

555060 P63676 PAN FRAMER SELF DRILLING SCREW BLACK #6 X 7/16 5 PQ P63

D55060 P63676 PAN FRAMER SELF DRILLING SCREW BLACK #6 X 7/16 1 PI P63



h. 112825 Carmenita Rd . Santa Fe Springs .  CA . 90670 | 1.800.468.9513
grattanfasteners.com

SELF DRILLING SCREWS

PAN FRAMER SCREWS SHARP POINT ZINC

SE
LF

 D
RI

LL
IN

G
 S

CR
EW

S

GRATTAN 
PART #

BBI 
PART # DESCRIPTION SIZE BOX 

QTY
VD 
CODE

FAMILY 
CODE

055061 H01676 PAN FRAMER SHEET METAL SCREW ZINC #6 X 7/16 100 PT H01

555061 P63716 PAN FRAMER SHEET METAL SCREW ZINC #6 X 7/16 5 PQ P63

D55061 P63716 PAN FRAMER SHEET METAL SCREW ZINC #6 X 7/16 1 PI P63



i. 112825 Carmenita Rd . Santa Fe Springs .  CA . 90670 | 1.800.468.9513
grattanfasteners.com

SELF DRILLING SCREWS

HEX WASHER HEAD SELF DRILLING SCREWS ZINC

SE
LF

 D
RI

LL
IN

G
 S

CR
EW

S

GRATTAN 
PART #

BBI 
PART # DESCRIPTION SIZE BOX 

QTY
VD 
CODE

FAMILY 
CODE

058035 693015 HEX SELF DRILLING SCREWS ZINC #6 X 1/2 100 PT 693

058019 693813 HEX SELF DRILLING SCREWS ZINC #6 X 5/8 100 PT 693

058036 693020 HEX SELF DRILLING SCREWS ZINC #6 X 3/4 100 PT 693

058020 693050 HEX SELF DRILLING SCREWS ZINC #8 X 1/2 100 PT 693

058037 693055 HEX SELF DRILLING SCREWS ZINC #8 X 5/8 100 PT 693

058021 693060 HEX SELF DRILLING SCREWS ZINC #8 X 3/4 100 PT 693

058022 693065 HEX SELF DRILLING SCREWS ZINC #8 X 1 100 PT 693

058023 693070 HEX SELF DRILLING SCREWS ZINC #8 X 1 1/4 100 PT 693

058024 693085 HEX SELF DRILLING SCREWS ZINC #8 X 1 1/2 100 PT 693

058042 693100 HEX SELF DRILLING SCREWS ZINC #8 X 2 100 PT 693

058025 693115 HEX SELF DRILLING SCREWS ZINC #10 X 1/2 100 PT 693

058038 693130 HEX SELF DRILLING SCREWS ZINC #10 X 5/8 100 PT 693

058026 693135 HEX SELF DRILLING SCREWS ZINC #10 X 3/4 100 PT 693

058027 693140 HEX SELF DRILLING SCREWS ZINC #10 X 1 100 PT 693

058028 693145 HEX SELF DRILLING SCREWS ZINC #10 X 1 1/4 100 PT 693

058029 693150 HEX SELF DRILLING SCREWS ZINC #10 X 1 1/2 100 PT 693

058039 693155 HEX SELF DRILLING SCREWS ZINC #10 X 2 100 PT 693

058040 693160 HEX SELF DRILLING SCREWS ZINC #10 X 2 1/2 50 PT 693

058041 693165 HEX SELF DRILLING SCREWS ZINC #10 X 3 50 PT 693

058030 693170 HEX SELF DRILLING SCREWS ZINC #12 X 3/4 100 PT 693

058031 693175 HEX SELF DRILLING SCREWS ZINC #12 X 1 100 PT 693

058050 693180 HEX SELF DRILLING SCREWS ZINC #12 X 1 1/4 100 PT 693

058051 693120 HEX SELF DRILLING SCREWS ZINC #12 X 1 1/2 100 PT 693

058052 693195 HEX SELF DRILLING SCREWS ZINC #12 X 2 100 PT 693

058043 693200 HEX SELF DRILLING SCREWS ZINC #12 X 2 1/2 100 PT 693

058044 693205 HEX SELF DRILLING SCREWS ZINC #12 X 3 50 PT 693

058045 693206 HEX SELF DRILLING SCREWS ZINC #12 X 4 50 PT 693

058032 693220 HEX SELF DRILLING SCREWS ZINC #14 X 3/4 100 PT 693

058033 693230 HEX SELF DRILLING SCREWS ZINC #14 X 1 100 PT 693

058053 693235 HEX SELF DRILLING SCREWS ZINC #14 X 1 1/4 100 PT 693

058034 693240 HEX SELF DRILLING SCREWS ZINC #14 X 1 1/2 100 PT 693

058018 693245 HEX SELF DRILLING SCREWS ZINC #14 X 1 3/4 100 PT 693

058054 693250 HEX SELF DRILLING SCREWS ZINC #14 X 2 100 PT 693

058046 693260 HEX SELF DRILLING SCREWS ZINC #14 X 2 1/2 100 PT 693

058047 693265 HEX SELF DRILLING SCREWS ZINC #14 X 3 50 PT 693

058048 693275 HEX SELF DRILLING SCREWS ZINC #14 X 4 50 PT 693



j. 112825 Carmenita Rd . Santa Fe Springs .  CA . 90670 | 1.800.468.9513
grattanfasteners.com

SELF DRILLING SCREWS

PAN HEAD PHIL SELF DRILLING SCREWS ZINC

SE
LF

 D
RI

LL
IN

G
 S

CR
EW

S

GRATTAN 
PART #

BBI 
PART # DESCRIPTION SIZE BOX 

QTY
VD 
CODE

FAMILY 
CODE

058069 693330 PAN PHIL SELF DRILLING SCREWS ZINC #6 X 3/8 100 PT 693

058055 693335 PAN PHIL SELF DRILLING SCREWS ZINC #6 X 1/2 100 PT 693

058070 693340 PAN PHIL SELF DRILLING SCREWS ZINC #6 X 5/8 100 PT 693

058071 693345 PAN PHIL SELF DRILLING SCREWS ZINC #6 X 3/4 100 PT 693

058072 693350 PAN PHIL SELF DRILLING SCREWS ZINC #6 X 1 100 PT 693

058056 693370 PAN PHIL SELF DRILLING SCREWS ZINC #8 X 1/2 100 PT 693

058057 693375 PAN PHIL SELF DRILLING SCREWS ZINC #8 X 5/8 100 PT 693

058058 693380 PAN PHIL SELF DRILLING SCREWS ZINC #8 X 3/4 100 PT 693

058059 693385 PAN PHIL SELF DRILLING SCREWS ZINC #8 X 1 100 PT 693

058060 693390 PAN PHIL SELF DRILLING SCREWS ZINC #8 X 1 1/4 100 PT 693

058061 693395 PAN PHIL SELF DRILLING SCREWS ZINC #8 X 1 1/2 100 PT 693

058062 693405 PAN PHIL SELF DRILLING SCREWS ZINC #10 X 1/2 100 PT 693

058063 693415 PAN PHIL SELF DRILLING SCREWS ZINC #10 X 5/8 100 PT 693

058064 693420 PAN PHIL SELF DRILLING SCREWS ZINC #10 X 3/4 100 PT 693

058065 693425 PAN PHIL SELF DRILLING SCREWS ZINC #10 X 1 100 PT 693

058066 693430 PAN PHIL SELF DRILLING SCREWS ZINC #10 X 1 1/4 100 PT 693

058067 693435 PAN PHIL SELF DRILLING SCREWS ZINC #10 X 1 1/2 100 PT 693

058068 693440 PAN PHIL SELF DRILLING SCREWS ZINC #10 X 2 100 PT 693

058073 693455 PAN PHIL SELF DRILLING SCREWS ZINC #12 X 3/4 100 PT 693

058074 636387 PAN PHIL SELF DRILLING SCREWS ZINC #12 X 1  100 PT 636

058075 693470 PAN PHIL SELF DRILLING SCREWS ZINC #12 X 1 1/2 100 PT 693



k. 112825 Carmenita Rd . Santa Fe Springs .  CA . 90670 | 1.800.468.9513
grattanfasteners.com

SELF DRILLING SCREWS

FLAT HEAD PHIL SELF DRILLING SCREWS ZINC

SE
LF

 D
RI

LL
IN

G
 S

CR
EW

S

GRATTAN 
PART #

BBI 
PART # DESCRIPTION SIZE BOX 

QTY
VD 
CODE

FAMILY 
CODE

058201 693530 FLAT PHIL SELF DRILLING SCREWS ZINC #6 X 1/2 100 PT 693

058202 693535 FLAT PHIL SELF DRILLING SCREWS ZINC #6 X 3/4 100 PT 693

058203 693540 FLAT PHIL SELF DRILLING SCREWS ZINC #6 X 1 100 PT 693

058204 693545 FLAT PHIL SELF DRILLING SCREWS ZINC #8 X 1/2 100 PT 693

058205 693550 FLAT PHIL SELF DRILLING SCREWS ZINC #8 X 3/4 100 PT 693

058206 693555 FLAT PHIL SELF DRILLING SCREWS ZINC #8 X 1 100 PT 693

058207 693560 FLAT PHIL SELF DRILLING SCREWS ZINC #8 X 1 1/4 100 PT 693

058208 693565 FLAT PHIL SELF DRILLING SCREWS ZINC #8 X 1 1/2 100 PT 693

058209 693568 FLAT PHIL SELF DRILLING SCREWS ZINC #8 X 2 50 PT 693

058210 693575 FLAT PHIL SELF DRILLING SCREWS ZINC #10 X 3/4 50 PT 693

058211 693580 FLAT PHIL SELF DRILLING SCREWS ZINC #10 X 1 100 PT 693

058228 693585 FLAT PHIL SELF DRILLING SCREWS ZINC #10 X 1 1/4 100 PT 693

058212 693590 FLAT PHIL SELF DRILLING SCREWS ZINC #10 X 1 1/2 100 PT 693

058213 693591 FLAT PHIL SELF DRILLING SCREWS ZINC #10 X 2 50 PT 693

058214 693592 FLAT PHIL SELF DRILLING SCREWS ZINC #10 X 2 1/2 50 PT 693

058215 693593 FLAT PHIL SELF DRILLING SCREWS ZINC #10 X 3 100 PT 693

058216 693599 FLAT PHIL SELF DRILLING SCREWS ZINC #12 X 1 100 PT 693

058217 693603 FLAT PHIL SELF DRILLING SCREWS ZINC #12 X 1 1/2 100 PT 693

058218 693605 FLAT PHIL SELF DRILLING SCREWS ZINC #12 X 2 100 PT 693

058219 693607 FLAT PHIL SELF DRILLING SCREWS ZINC #12 X 2 1/2 100 PT 693

058220 693609 FLAT PHIL SELF DRILLING SCREWS ZINC #12 X 3 50 PT 693

058221 693611 FLAT PHIL SELF DRILLING SCREWS ZINC #14 X 3/4 50 PT 693

058222 693613 FLAT PHIL SELF DRILLING SCREWS ZINC #14 X 1 100 PT 693

058223 693614 FLAT PHIL SELF DRILLING SCREWS ZINC #14 X 1 1/4 100 PT 693

058224 693615 FLAT PHIL SELF DRILLING SCREWS ZINC #14 X 1 1/2 100 PT 693

058225 693616 FLAT PHIL SELF DRILLING SCREWS ZINC #14 X 2 100 PT 693

058226 693617 FLAT PHIL SELF DRILLING SCREWS ZINC #14 X 2 1/2 50 PT 693

058227 693618 FLAT PHIL SELF DRILLING SCREWS ZINC #14 X 3 50 PT 693



l. 112825 Carmenita Rd . Santa Fe Springs .  CA . 90670 | 1.800.468.9513
grattanfasteners.com

SELF DRILLING SCREWS

TRUCK BED SCREWS W/WINGS ZINC

SE
LF

 D
RI

LL
IN

G
 S

CR
EW

S

GRATTAN 
PART #

BBI 
PART # DESCRIPTION SIZE BOX 

QTY
VD 
CODE

FAMILY 
CODE

058101 693971 TRUCK BED SCREW SELF DRILLING ZINC #10 X 1 7/16 100 PT 693

058102 693972 TRUCK BED SCREW SELF DRILLING ZINC #12 X 2 100 PT 693

058103 693973 TRUCK BED SCREW SELF DRILLING ZINC #12 X 2 1/2 100 PT 693

058100 693984 TRUCK BED SCREW SELF DRILLING ZINC 1/4 X 2 3/4 100 PT 693

058104 693986 TRUCK BED SCREW SELF DRILLING ZINC 1/4 X 3 1/4 100 PT 693

058105 693988 TRUCK BED SCREW SELF DRILLING ZINC 1/4 X 3 3/4 100 PT 693



m. 112825 Carmenita Rd . Santa Fe Springs .  CA . 90670 | 1.800.468.9513
grattanfasteners.com

SELF DRILLING SCREWS

TRUCK BED SCREWS W/WINGS 5LB ZINC

SE
LF

 D
RI

LL
IN

G
 S

CR
EW

S

GRATTAN 
PART #

BBI 
PART # DESCRIPTION SIZE BOX 

QTY
VD 
CODE

FAMILY 
CODE

558101 P30971 TRUCK BED SCREW SELF DRILLING ZINC #10 X 1 7/16 5 PQ P30

558102 P30972 TRUCK BED SCREW SELF DRILLING ZINC #12 X 2 5 PQ P30

558103 P30973 TRUCK BED SCREW SELF DRILLING ZINC #12 X 2 1/2 5 PQ P30

558100 P30984 TRUCK BED SCREW SELF DRILLING ZINC 1/4 X 2 3/4 5 PQ P30

558104 P30986 TRUCK BED SCREW SELF DRILLING ZINC 1/4 X 3 1/4 5 PQ P30

558105 P30888 TRUCK BED SCREW SELF DRILLING ZINC 1/4 X 3 3/4 5 PQ P30



n. 112825 Carmenita Rd . Santa Fe Springs .  CA . 90670 | 1.800.468.9513
grattanfasteners.com

SELF DRILLING SCREWS

SELF DRILLING SCREWS HWH  W/BONDED WASHER ZINC

SE
LF

 D
RI

LL
IN

G
 S

CR
EW

S

GRATTAN 
PART #

BBI 
PART # DESCRIPTION SIZE BOX 

QTY
VD 
CODE

FAMILY 
CODE

W58025 669102 HEX HD SELF DRILLING SCREWS W/BONDED WASHER 
ZINC #10 X 1/2 100 PT 669

W58038 669104 HEX HD SELF DRILLING SCREWS W/BONDED WASHER 
ZINC #10 X 5/8 100 PT 669

W58026 669108 HEX HD SELF DRILLING SCREWS W/BONDED WASHER 
ZINC #10 X 3/4 100 PT 669

W58027 669112 HEX HD SELF DRILLING SCREWS W/BONDED WASHER 
ZINC #10 X 1 100 PT 669

W58028 669116 HEX HD SELF DRILLING SCREWS W/BONDED WASHER 
ZINC #10 X 1 1/4 100 PT 669

W58029 669120 HEX HD SELF DRILLING SCREWS W/BONDED WASHER 
ZINC #10 X 1 1/2 100 PT 669

W58039 669124 HEX HD SELF DRILLING SCREWS W/BONDED WASHER 
ZINC #10 X 2 100 PT 669

W58030 669134 HEX HD SELF DRILLING SCREWS W/BONDED WASHER 
ZINC #12 X 3/4 100 PT 669

W58031 669138 HEX HD SELF DRILLING SCREWS W/BONDED WASHER 
ZINC #12 X 1 100 PT 669

W58050 638060 HEX HD SELF DRILLING SCREWS W/BONDED WASHER 
ZINC #12 X 1 1/4 100 PT 638

W58051 669146 HEX HD SELF DRILLING SCREWS W/BONDED WASHER 
ZINC #12 X 1 1/2 100 PT 669

W58052 669150 HEX HD SELF DRILLING SCREWS W/BONDED WASHER 
ZINC #12 X 2 100 PT 669

W58032 639164 HEX HD SELF DRILLING SCREWS W/BONDED WASHER 
ZINC #14 X 3/4 100 PT 639

W58033 669168 HEX HD SELF DRILLING SCREWS W/BONDED WASHER 
ZINC #14 X 1 100 PT 669

W58053 669172 HEX HD SELF DRILLING SCREWS W/BONDED WASHER 
ZINC #14 X 1 1/4 100 PT 669

W58034 669176 HEX HD SELF DRILLING SCREWS W/BONDED WASHER 
ZINC #14 X 1 1/2 100 PT 669

W58054 669180 HEX HD SELF DRILLING SCREWS W/BONDED WASHER 
ZINC #14 X 2 100 PT 669



o. 112825 Carmenita Rd . Santa Fe Springs .  CA . 90670 | 1.800.468.9513
grattanfasteners.com

SELF DRILLING SCREWS

ROOFING SCREWS W/BONDED WASHER GALVANIZED

SE
LF

 D
RI

LL
IN

G
 S

CR
EW

S

GRATTAN 
PART #

BBI  
PART # DESCRIPTION SIZE BOX 

QTY
VD 
CODE

FAMILY 
CODE

188040 P6E010 HEX HD ROOFING SCREWS W/ BONDED WASHER
GALVANIZED #9 X 1 100 PT P6E

188041 P6E020 HEX HD ROOFING SCREWS W/ BONDED WASHER 
GALVANIZED #9 X 1 1/2 100 PT P6E

188042 P6E030 HEX HD ROOFING SCREWS W/ BONDED WASHER
GALVANIZED #9 X 2 100 PT P6E

188043 P6E040 HEX HD ROOFING SCREWS W/ BONDED WASHER
GALVANIZED #9 X 2 1/2 100 PT P6E

188050 969027 HEX HD ROOFING SCREWS W/ BONDED WASHER 
GALVANIZED #10 X 1 100 PT 969

188055 969028 HEX HD ROOFING SCREWS W/ BONDED WASHER
GALVANIZED #10 X 2 100 PT 969



p. 112825 Carmenita Rd . Santa Fe Springs .  CA . 90670 | 1.800.468.9513
grattanfasteners.com

SELF DRILLING SCREWS

ROOFING SCREWS W/BONDED WASHER  GALVANIZED

SE
LF

 D
RI

LL
IN

G
 S

CR
EW

S

GRATTAN 
PART #

BBI 
PART # DESCRIPTION SIZE BOX 

QTY
VD 
CODE

FAMILY 
CODE

558040 P67010 HEX HD ROOFING SCREWS W/BONDED WASHER 
GALVANIZED #9 X 1 5 PQ P67

558041 P67020 HEX HD ROOFING SCREWS W/BONDED WASHER 
GALVANIZED #9 X 1 1/2 5 PQ P67

558042 P67030 HEX HD ROOFING SCREWS W/BONDED WASHER 
GALVANIZED #9 X 2 5 PQ P67

558043 P67040 HEX HD ROOFING SCREWS W/BONDED WASHER 
GALVANIZED #9 X 2 1/2 5 PQ P67



q. 112825 Carmenita Rd . Santa Fe Springs .  CA . 90670 | 1.800.468.9513
grattanfasteners.com

SELF DRILLING SCREWS

ANTIQUE BRASS SELF-TAPPING SCREWS

SE
LF

 D
RI

LL
IN

G
 S

CR
EW

S

GRATTAN 
PART #

BBI 
PART # DESCRIPTION SIZE BOX 

QTY
VD 
CODE

FAMILY 
CODE

057011 11A050 FLAT PHIL SHEET METAL SCREWS ANTI-BRASS #5 X 1/2 100 PT 11A

057012 11A062 FLAT PHIL SHEET METAL SCREWS ANTI-BRASS #5 X 5/8 100 PT 11A

057013 11A075 FLAT PHIL SHEET METAL SCREWS ANTI-BRASS #5 X 3/4 100 PT 11A

057021 11A150 FLAT PHIL SHEET METAL SCREWS ANTI-BRASS #6 X 1/2 100 PT 11A

057022 11A162 FLAT PHIL SHEET METAL SCREWS ANTI-BRASS #6 X 5/8 100 PT 11A

057023 11A175 FLAT PHIL SHEET METAL SCREWS ANTI-BRASS #6 X 3/4 100 PT 11A

057111 11A050 FLAT PHIL SHEET METAL SCREWS ANTI-BRASS #5 X 1/2 100 P4 11A

057113 11A075 FLAT PHIL SHEET METAL SCREWS ANTI-BRASS #5 X 3/4 100 P4 11A

057121 11A150 FLAT PHIL SHEET METAL SCREWS ANTI-BRASS #6 X 1/2 100 P4 11A

057122 11A162 FLAT PHIL SHEET METAL SCREWS ANTI-BRASS #6 X 5/8 100 P4 11A

057123 11A175 FLAT PHIL SHEET METAL SCREWS ANTI-BRASS #6 X 3/4 100 P4 11A



q. 2 “Your Complete Fastener Source”
grattanfasteners.com

SELF DRILLING SCREWS

ANTIQUE BRASS SELF-TAPPING SCREWS

SE
LF

 D
RI

LL
IN

G
 S

CR
EW

S

GRATTAN 
PART #

BBI 
PART # DESCRIPTION SIZE BOX 

QTY
VD 
CODE

FAMILY 
CODE

057501 11A250 OVAL HD PHIL SHEET METAL SCREWS ANTI-BRASS #5 X 1/2 100 PT 11A

057502 11A262 OVAL HD PHIL SHEET METAL SCREWS ANTI-BRASS #5 X 5/8 100 PT 11A

057503 11A275 OVAL HD PHIL SHEET METAL SCREWS ANTI-BRASS #5 X 3/4 100 PT 11A

057511 11A350 OVAL HD PHIL SHEET METAL SCREWS ANTI-BRASS #6 X 1/2 100 PT 11A

057512 11A362 OVAL HD PHIL SHEET METAL SCREWS ANTI-BRASS #6 X 5/8 100 PT 11A

057513 11A375 OVAL HD PHIL SHEET METAL SCREWS ANTI-BRASS #6 X 3/4 100 PT 11A

057602 116683 OVAL HD PHIL SHEET METAL SCREWS ANTI-BRASS #5 X 5/8 100 PT 116

057611 116684 OVAL HD PHIL SHEET METAL SCREWS ANTI-BRASS #6 X 1/2 100 PT 116

057612 116685 OVAL HD PHIL SHEET METAL SCREWS ANTI-BRASS #6 X 5/8 100 PT 116

057613 116686 OVAL HD PHIL SHEET METAL SCREWS ANTI-BRASS #6 X 3/4 100 PT 116



r. 112825 Carmenita Rd . Santa Fe Springs .  CA . 90670 | 1.800.468.9513
grattanfasteners.com

SELF DRILLING SCREWS

BRASS FRINGE SCREWS

SE
LF

 D
RI

LL
IN

G
 S

CR
EW

S

GRATTAN 
PART #

BBI 
PART # DESCRIPTION SIZE BOX 

QTY
VD 
CODE

FAMILY 
CODE

097001 VBF120 BRASS FRINGE SCREWS OIL-RUBBED BRONZE #9 X 1 25 PT VBF

097002 VBF121 BRASS FRINGE SCREWS SATIN NICKEL #9 X 1 25 PT VBF

097005 VBF160 BRASS FRINGE SCREWS OIL-RUBBED BRONZE #9 X 3 25 PT VBF

097006 VBF161 BRASS FRINGE SCREWS SATIN NICKEL #9 X 3 25 PT VBF

097003 VBF225 BRASS FRINGE SCREWS OIL-RUBBED BRONZE #10 X 1 1/4 25 PT VBF

097004 VBF226 BRASS FRINGE SCREWS SATIN NICKEL #10 X 1 1/4 25 PT VBF

097007 VBF280 BRASS FRINGE SCREWS (OIL-RUBBED BRONZE #10 X 4 25 PT VBF

097008 VBF281 BRASS FRINGE SCREWS SATIN NICKEL #10 X 4 25 PT VBF

097009 VBF330 BRASS FRINGE SCREWS OIL-RUBBED BRONZE #12 X 1 1/2 25 PT VBF

097010 VBF331 BRASS FRINGE SCREWS SATIN NICKEL #12 X 1 1/2 25 PT VBF


